Jul. 2007

AC-90

AG-90

ACOUSTIC CHORUS

Table of Contents

SERVICE NOTES
Issued by RJA

Cautionary NOtes ..o, 2
SPeCiCationS.........ociurueieiicici e, 2
Location of Controls ..., 4
Location of Controls Parts List........cccccccveiviniiiininnnne. 5
Exploded View (Cabinet).......cccccoooirieiiiiiiiiiiic 6
Exploded View (Cabinet) Parts List.........cccccoouerrinnnee. 7
Exploded View (Chassis) ......c.cccovuvininivinininininiininiicnnn 8
Exploded View (Chassis) Parts List........c.cccccoovvinininnnn 9
Parts List ..o 10
Verifying the Version Number...........c.ccccccooeiirininnnn. 14
Test Mode......coiiiiiiiiiiccccces 14
Block Diagram/Wiring Diagram..........c.ccccoeevverninnen 20

Circuit Board (Main, XLR Board)........c.cececerveerccnnennn 22
Circuit Diagram (Main Board: Digital) ....................... 24
Circuit Diagram (Main Board: Analog, XLR Board)..26
Circuit Diagram (Main Board: Power Supply) ........... 28
Circuit Board (Jack Board) ......ccceceeeeeveeneenccncncnnencnn 30
Circuit Diagram (Jack Board) .........cccccevvvieieiiiiiniiininnnes 32
Circuit Board (Panel Board).........coceeeeenecnccncncnnenenn 34
Circuit Diagram (Panel Board).........cccccccevueviiiiiiiinnnnnes 36
Circuit Board (PS1 Board).........ccccoevevueveeeueereereeennnnn. 38
Circuit Diagram (PS1 Board) ........cccccceeuceicicicicicicnennes 39
Circuit Board (Amp Board)........cccccoeeuviiciciciinicccncnnes 40
Circuit Diagram (Amp Board).........ccccoevvevniiiriininnnnan. 42

Copyright © 2007 ROLAND CORPORATION

All rights reserved. No part of this publication may be reproduced in any form without the written permission

of ROLAND CORPORATION.

Roland

17058507E0

Printed in Japan (0400) (SC-M2)



Jul. 2007

AC-90

Cautionary Notes

Specications

Before beginning the procedure, please read
through this document. The matters described may
differ according to the model.

No User Data

This product cannot save user data. Backing up user data during servicing is
not required.

Part Replacement

When replacing components near the power-supply circuit or a heat-
generating circuit (such as a circuit provided with a heat sink or including a
cement resistor), carry out the procedure according to the instructions with
respect to the part number, direction, and attachment position (mounting so as
to leave an air gap between the component and the circuit board, etc.).

Parts List

A component whose part code is ********

cannot be supplied as a service part
because one of the following reasons applies.
® Because it is supplied as an assembled part (under a different part code).
® Because a number of circuit boards are grouped together and supplied as
a single circuit board (under a different part code).
® Because supply is prohibited due to copyright restrictions.
* Because reissuance is restricted.

* Because the part is made to order (at current market price).

Circuit Diagram

In the circuit diagram, “NIU” is an abbreviation for “NOT IN USE.” The circuit
board and circuit-board diagram show silkscreened indications, but no
components are mounted.

AC-90:Acoustic Chorus

@ Rated Power Output

45W + 45W

® Nominal Input Level (1 kHz)
GUITAR Channel: -10 dBu
MIC/LINE Channel: -50/-10 dBu
AUXIN: -10 dBu

® Nominal Output Level (1 kHz)
DI/TUNER OUT: +4 dBu

LINE OUT: +4 dBu

SUB WOOFER OUT: +4 dBu

* 0dBu=0.775 Vrms
@ Speakers
Woofer 20 cm (8 inches) x 2
Tweeter 8 cm x 5 cm (3 inches x 2 inches) x 2
@ Controls
GUITAR Channel
PICKUP Switch (PIEZO/MAGNETIC)
SHAPE Switch
VOLUME Knob
Equalizer Knobs (BASS, MIDDLE, TREBLE)
CHORUS Switch
MIC/LINE Channel
PHANTOM Switch
SELECT Switch (MIC/LINE)
VOLUME Knob
Equalizer Knobs (BASS, MIDDLE, TREBLE)
CHORUS Switch
CHORUS Knob
REVERB/DELAY Knob
ANTI-FEEDBACK
FREQUENCY Knob
START Button
MUTE Switch
MASTER Knob
POWER Switch
@ Indicator
CHORUS (GUITAR Channel, MIC/LINE Channel)
ANTI-FEEDBACK
MUTE
POWER
@ Connectors
GUITAR Input Jack (1/4 inch TRS phone type)
MIC/LINE Input Jack (XLR type, 1/4 inch TRS phone type)
AUX N Jacks (RCA phono type, 1/4 inch phone type)
DI/TUNER OUT Jack (1/4 inch TRS phone type)
LINE OUT Jacks (XLR type, 1/4 inch phone type)

SUB WOOEFER OUT Jack (1/4 inch phone type)
PHONES Jack (1/4 inch stereo phone type)
FOOT SWITCH Jack (1/4 inch TRS phone type)
@ Power Supply AC

117V, AC230 V, AC 240 V (50/60 Hz)

® Power Consumption

30 W

@® Dimensions

464 (W) x 303 (D) x 326 (H) mm

18-5/16 (W) x 11-15/16 (D) x 12-7/8 (H)

inches

® Weight

11.7 kg

251bs 13 oz



Jul. 2007 AC-90

@ Accessories
Carrying Case (#5SD000999)
Owner’s Manual (multi-languages E/G/F/1/S/P /D) (#5D000994)

@ Options

Owner’s Manual (Japanese /#SD000992)

Foot Switch: BOSS FS-5L (Mute On/Off)
BOSS FS-5U
BOSS FS-6

Connection Cable: PCS-31

*In the interest of product improvement, the specifications and/ or appearance of
this unit are subject to change without prior notice.



Jul. 2007 AC-90

Location of Controls

IS @@@???5@

RRRRRRRRRRR

) s

\ . ACOUSTIC
PPPPP ()

&) @ é@@ ‘@



Jul. 2007

AC-90

Location of Controls Parts List

No. Part Code Part Name Description Q'ty
1 13449146 6.5MM JACK YKB21-5102 (W/SW) 5
22150756 JACK NUT 2 5
2 SD000099 PUSH SWITCH ESB64619 6
SD000082 PUSH BUTTON 6
3 SD000091 POTENTIOMETER RKO09L1140 10KB 11
40452178 VR WASHER M9 11
17048630 VR ACCESSORY NUT M9 11
SD000083 KNOB S 11
4 SD000045 LED(RED)3FAIL 5
5 SD000090 POTENTIOMETER RK0971410 10KBX4 1
17048651 VR ACCESSORY WASHER M7 1
H5039521R0 VR ACCESSORY NUT M7 1
SD000083 KNOB S 1
6 13449169 6.5MM JACK YKB21-5078 1
22150756 JACKNUT 2 1
7 01901001 XLR CONNECTER NCJ9FI-H 1
8 SD000105 SLIDE SWITCH SSSF021500 1
9 01454723 PUSH SWITCH ESB64620 1
SD000082 PUSH BUTTON 1
10 03782367 SEESAW SWITCH JW-L11RKK 1
03782323 SW HOLDER AT-218K 1
11 SD001008 CHASSIS 1
12 00122123 XLR CONNECTER YKF52-5003N 2
13 13449643 JACK (PIN JACK 2P) WHT/RED YKC21-3091 1
14 13449145 6.5MM JACK YKB21-5010 1
22150756 JACK NUT 2 1
15 13449252 6.5MM JACK YKB21-5006 (STEREO W/SW) 2
22150756 JACK NUT 2 2



Jul. 2007

AC-90

Exploded View (Cabinet)

Speaker Jack Connection Diagram (Front View)

BLACK(W3) ORANGE(W3

BROWN(W3

.
1 \
; WOOFER . @
@ ‘ ;o Rch )
N N I' N Il
\ ’ AY ’
A , A ’
. . . s
§WHITF(W3Z L. *.PURPLE(W3)

“~——TWEETER  TWEETER ——
J Lch Rch \

(11 x4

@x4

x4

Rear View

)
ra

IS
o

ﬂx2




Jul. 2007 AC-90
o (] (]
Exploded View (Cabinet) Parts List
Parts
No. Part Code Part Name Description Q’ty
1 i CHASSIS ASSY 1
2 SD001004 CABINET ASSY 1
NOTE: ‘CABINET ASSYNOTE’ includes the following parts.
i ACOUSTIC FOAM A 1
i ACOUSTIC FOAM B 4
i ACOUSTIC FOAM C 1
i ACOUSTIC FOAM D 2
3 SD000079 CATCH BLK(73) 4
AAAAR MINI BELT 0.2X90L BLACK 2
4 R CR-based Rubber Sponge 105X21X5.0mm 2
5 SD001001 SPEAKER FULL RANGE (8”) W0804-435A (8INCH) 2
6 SD001002 SPEAKER TWEETER T08504-435A 2
7 SD001003 NET BOARD ASSY 1
NOTE: ‘NET BOARD ASSY’ includes the following part.
A NNN CLOTH 1
8 SD000719 BADGE LOGO 1
9 SD001015 WIRING W1 (BLACK) 1
10 SD001016 WIRING W2 (ORANGE) 1
i LOCKING CABLE TIE 2
11 SD001005 FOOT D25XT18 4
12 SD000463 HANDLE HOLDER 2
13 SD000462 HANDLE PLATE 1
14 SD000461 HANDLE RUBBER 1
15 SD001006 STAND 1
16 SD001007 STAND HOLDER 2
17 17055020 STAND ADAPTOR 1
Screws
No. Part Code Part Name Description Q’ty
a 40010356 SCREW M4X20 BINDING BZC 8
b 40012978 SCREW M3x15 PAN MACHINE W/SW+PW BZC 8
c 40010545 SCREW M4X25 TRUSS HEAD SPECIAL FE BZC 8
d 40011323 SCREW 3X10 BINDING TAPTITE P BZC 2
e 40347612 WASHER M4 PLAIN BzZC 4
f 40010678 SCREW 4X20 TRUSS TAPPING A FE BZC 7
g SD000737 SCREW M5X20 OVAL MACHINE BZC 4
h 40126267 SCREW M4X16 PAN MACHINE W/SW+PW BZC 4



Jul. 2007 AC-90

Exploded View (Chassis)

Cushion Chassis Attachment (Front Panel)
/— Affix lined up with the chassis border lines.
‘/ ACOUSTIC

OgnO0O00n OO0 %%
@

@ = ®
o e

&= © &= ©

100vJ 230VE
117VU 230VEU
117VUICS 240VA
PS1 Board Fuse Rating Indication
100VJ/117VU/117VUC Specifications 230VE/230VG/240VA Specifications
* Use Bel Fuse "5ST 5A 250V." « Use Bel Fuse "5ST 3.15A 250V."
+ Delete the high-voltage fuse + Delete the low-voltage fuse rating
rating as shown below. as shown below.
100/117V | T5AL 250V O S —
A A LA SR SATA 230/240V | T3.15AL 250V




Jul. 2007 AC-90
(] [ [ ]
Exploded View (Chassis) Parts List
Parts
No. Part Code Part Name Description Q’ty
1 SD001009 TRANSFORMER PT-BG435 100V /117V 1
SD001010 TRANSFORMER PT-BG435 230V /240V 1
2 SD000177 AC CORD PSE SP-18A WITH TERMINAL 100V 1
SD000912 AC CORD ASSY SP-20 117V(2P) 1
SD000913 AC CORD ASSY SP-026A 230V(2P) 1
SD000914 AC CORD ASSY SP-61 230VE(2P) 1
SD000915 AC CORD ASSY SP-501 240V (2P) 1
3 SD000989 MAIN BOARD ASSY 1
NOTE: 'MAIN BOARD ASSYNOTE’ includes the following parts.
4 i MAIN BOARD 1
5 i PANEL BOARD 1
6 i JACK BOARD 1
7 i XLR BOARD 1
8 SD000990 AMP BOARD ASSY 1
NOTE: “AMP BOARD ASSY” includes the following parts.
9 i AMP BOARD 1
10 i PS1 BOARD 1
11 SD001008 CHASSIS 1
12 22150756 JACK NUT 9
13 SD000083 KNOB S 12
14 SD000082 PUSH BUTTON 7
15 22360705 CORD HOOK 2
16 12369410RT AC CORD HOLDER 1702B 2
17 03782367 SEESAW SWITCH JW-L11RKK 1
18 03782323 SW HOLDER AT-218K 1
19 SD000182 STAY 3
20 SD001011 TRANS SHEET 1
21 SD001012 CUSHION CHASSIS L 1
22 SD001013 CUSHION CHASSIS S 2
23 SD000853 CUSHION 3x32 HI 2
24 SD000153 CABLE CLAMP 412-PGYL-3 1
Screws
No. Part Code Part Name Description Q’ty
a 22150518 STANDOFF HEX.BOSS 5.5X15 M3 4
b 40011490 SCREW M3X6 PAN MACHINE W/SW BZC 4
c 40012867 SCREW M3X8 PAN MACHINE W/SW+PW ZC 25
d 40013012 SCREW M4X10 PAN W SEMS FE BZC 4
e 40010301 SCREW M3X20 BINDING MACHINE BZC 2
f SD000103 SCREW M4X25 PAN PACHINE W/SW BZC 2
g 40011767 FLANGE HEX NUT M4 FE 7C 1
h 40011756 FLANGE HEX NUT M3 zC 2
i 40011889 EXTERNAL TOOTH WASHER M4 zC 1
j 40011878 M3 EXTERNAL TOOTH WASHER FECM 1
k 40011101 SCREW 3X8 BINDING TAPTITE B BZC 7
1 17048630 VR ACCESSORY NUT M9 11
m 40452178 VR WASHER M9 11
n H5039521R0 VR ACCESSORY NUT M7 1
o 17048651 VR ACCESSORY WASHER M7 M7X12X0.5 NO.467 1
1. ACCORD

2. PS1BOARD

3. AMP BOARD

4, STAY

5. TRANSFORMER
6. XLRBOARD

7. MAIN BOARD
8. JACK BOARD
9. PANEL BOARD



Jul. 2007 AC-90
[ ]
Parts List
SAFETY PRECAUTIONS: Due to one or more of the following reasons,
The parts marked /\ have parts with parts code ******** cannot be supplied as service parts.
safety-related characteristics. Use
only listed parts for replacement. « Part supplied only as a component in a complete assembly
+ Copyright does not permit the part to be supplied
+ Part is sold commercially
NOTE: The parts marked # are new. (initial parts) ~ The description "Q'TY" means a necessary number of the parts per one product.
CASING
SD000719 BADGE LOGO NET BOARD 1
# SD001005 FOOT D25XT18 4
# SD001004 CABINET ASSY 1
NOTE: ‘CABINET ASSY’ includes the following parts.
e ACOUSTIC FOAM A 1
i ACOUSTIC FOAM B 4
R ACOUSTIC FOAM C 1
i ACOUSTIC FOAM D 2
SD000079 CATCH BLK(73) 4
i MINI BELT 0.2X90L BLACK 2
R CR-based Rubber Sponge 105X21X5.0mm 2
A SD000463 HANDLE HOLDER 2
A SD000462 HANDLE PLATE 1
A SD000461 HANDLE RUBBER 1
# A SD001003 NET BOARD ASSY 1
NOTE: ‘NET BOARD ASSY’ includes the following parts.
HARAXAN CLOTH 1
# SD001006 STAND 1
17055020 STAND ADAPTOR 1
# A SD001007 STAND HOLDER 2
CHASSIS
# SD001008 CHASSIS
A 22360705 CORD HOOK 2
SD000182 STAY 3
KNOB, BUTTON
SD000083 KNOB S 12
SD000082 PUSH BUTTON 7
SWITCH
SD000105 SLIDE SWITCH SSSF021500 1
A 03782367 SEESAW SWITCH JW-L11RKK 1
01454723 PUSH SWITCH ESB64620 1
SD000099 PUSH SWITCH ESB64619 6
JACK, EXT TERMINAL
00122123 XLR CONNECTER YKF52-5003N JK6, 9 2
13449643 JACK (PIN JACK 2P) WHT/ YKC21-3091 JK5 1
RED
13449169 6.5MM JACK YKB21-5078 JK2 1
13449146 6.5MM JACK YKB21-5012 (W /SW) JK1,4,7,12,400 5
13449145 6.5MM JACK YKB21-5010 JK13 1
A 13449252 6.5MM JACK YKB21-5006 (STEREO W /SW) JK11, 401 2
01901001 XLR CONNECTER NCJ9FI-H JK3 1
SPEAKER, BUZZER
# A SD001001 SPEAKER FULL RANGE W0804-435A (8INCH) 2
# A SD001002 SPEAKER TWEETER T08504-435A 2

10



Jul. 2007 AC-90
PWB ASSY
# A SD000990 AMP BOARD ASSY 1
NOTE: “AMP BOARD ASSY” includes the following part.
e PS1 BOARD NOTE: excluding the fuse. 1
# A SD000989 MAIN BOARD ASSY 1
NOTE: ‘MAIN BOARD ASSY” includes the following parts.
S MAIN BOARD 1
R PANEL BOARD 1
S JACK BOARD 1
R XLR BOARD 1
DIODE
SD000045 LED (RED) 3FAI 5
FUSE, FUSE HOLDER
A 03670512 FUSE 5ST 5-R 5A/250V 1
A 03673801 FUSE 55T 3.153.15A/250V for 230V /240V 1
POTENTIOMETER
SD000091 POTENTIOMETER RK09L1140 10kB VR2,3,4,5,6,7,8,9,10,11, 12 11
SD000090 POTENTIOMETER RK0971410 10kBX4 VR1
WIRING, CABLE
# SD001014 WIRING W3 (SPEAKER) SPEAKER 1
# A SD001016 WIRING W2 (ORANGE) Rch FULL RANGE SPEAKER-TWEETER 1
# A SD001015 WIRING W1(BLACK) Lch FULL RANGE SPEAKER-TWEETER 1
TRANSFORMER
# A SD001010 TRANSFORMER PT-BG435 230V /240V for 230V /240V 1
# A SD001009 TRANSFORMER PT-BG435 100V/117V for 100V/117V 1
AC CORD ASSY (Installed)
A SD000914 AC CORD ASSY SP-61 230VE(2P) for 230VE 1
A SD000915 AC CORD ASSY SP-501 240V(2P) for 240VA 1
A SD000912 AC CORD ASSY SP-20 117V(2P) for 117VU 1
A SD000177 AC CORD PSE SP-18A WITH TERMINAL 100V for 100V] 1
A SD000913 AC CORD ASSY SP-026A 230V(2P) for 230VEU 1
SCREWS
40011756 FLANGE HEXNUT M3 zC AC CORD 2
40010678 SCREW 4X20 TRUSS TAPPING A FE BZC FOOT, STAND 7
40010545 SCREW M4X25 TRUSS HEAD SPECIAL FE BZC ~ CHASSIS 8
40347612 WASHER M4 PLAIN BZC FOOT 4
40013012 SCREW M4X10 PAN W SEMS FE BZC TRANSFORMER 4
SD000103 SCREW M4X25 PAN PACHINE W/SW BZC AC CORD HOOK 2
40012867 SCREW M3X8 PAN MACHINE W/SW+PW PCB, STAY, CABLE CLAMP 25
zC
40012978 SCREW M3X15 PAN MACHINE W/SW+PW TWEETER 8
BZC
40126267 SCREW M4X16 PAN MACHINE W/SW+PW STAND HOLDER 4
BZC
40011490 SCREW M3X6 PAN MACHINE W/SW BZC CHASSIS 4
SD000737 SCREW M5X20 OVALHEAD MACHINE BZC HANDLE 4
17048651 VR ACCESSORY WASHER M7 M7X12X0.5 NO.476 VR1 1
22150518 STANDOEFF HEX.BOSS 5.5X15 M3 4
40011889 EXTERNAL TOOTH WASHER FECM W7 GND 1
M4
40011878 M3 EXTERNAL TOOTH FECM W10 GND 1
WASHER
40011767 FLANGE HEX NUT M4 FE ZC W7 GND 1
40011323 SCREW 3X10 BINDING TAPTITE P BZC Roland BADGE 2
40011101 SCREW 3X8 BINDING TAPTITE B BZC JK5, JK6, JK9, JK3 7
40010301 SCREW M3X20 BINDING MACHINE BZC AC CORD 2
40010356 SCREW 4X20 BINDING BZC FULLRANGE SPEAKER 8
22150756 JACK NUT 2 9
H5039521R0 VR ACCESSORY NUT M7 VR1 1
17048630 VR ACCESSORY NUT M9 VR2,3,4,5,6,7,8,9,10,11, 12 11
40452178 VR WASHER M9 VR2,3,4,5,6,7,8,9,10,11, 12 11



Jul. 2007 AC-90

PACKING

# SD001000 CUSHION PAD (DH NO.:604-AC-90) 1
SD000518 BOTTOM PAD 8

# SD000998 PACKING CASE 1

MISCELLANEOUS

# SD001013 CUSHION CHASSIS S CHASSIS 2

# SD001012 CUSHION CHASSIS L CHASSIS 1
03782323 SW HOLDER AT-218K 1
SD000153 CABLE CLAMP 412-PGYL-3 STAY 1
SD000853 CUSHION 3X32 HI CHASSIS 2
12369410RT AC CORD HOLDER 1702B 2
SD000079 CATCH BLACK (73) 4

# A SD001011 TRANS SHEET TRANSFORMER 1

ACCESSORIES (Standard)

# SD000994 OWNER’S MANUAL E/G/F/1/S/P/D 1

# SD000999 CARRYING BAG 1

12



Jul. 2007 AC-90

13



Jul. 2007

Verifying the Version
Number

e The TIP: MUTE, RING: ANTI-FEEDBACK foot switch is indicated as
[Foot SW 1].

e The TIP: CHORUS, RING: REVERB/DELAY foot switch is indicated as
[Foot SW 2].

T i) SRR 0

TIP:HOT TIP:CHORUS TIPMUTE

@) SN L@@]PJEQ]PJ

RING:
RING:COLD  REVERD OELAY  ANTI-FEEDBACK

(MoNo)

Foot SW 2

léot SW 1
1.  Foot Switch Settings and Connections
Connect two FS-5U foot switches to [Foot SW 1] using a PCS-31 foot-
switch cable.
* Set the [POLARITY] switch on the FS-5U foot switches to the setting
opposite that of the jack.
e Connect the standard plugs to the respective FS-5U foot switches.

The PCS-31 foot-switch connection cable is a stereo to standard x 2 adapter
cable.

* On the standard plug, “white” is [TIP] and “red” is [RING].
You can connect the white and red sides to either FS-5U unit.

2. Panel Settings

[PICKUP] switch: PIEZO

[SELECT] switch: LINE

All other switches: ~ OFF

All volume knobs: MIN

The unit will not enter the Test mode unless the panel settings in 2 above are
made correctly.

3. Displaying the Version Number
e With the settings in 1 and 2 above made, hold the [TIP] (white) foot
switch hold down and switch on the power.
After turning on the power, depressing the foot switch twice within 4
seconds makes the unit enter the Test mode.
Immediately after the unit enters the Test mode, the following LEDs flash several
times (for approximately 2 seconds).
The LEDs are used for verifying passing or failing of the inspection tests.
GUITAR channel [CHORUS] LED
MIC/LINE channel [CHORUS] LED
[ANTI-FEEDBACK] LED
[MUTE] LED
e After that, the [ANTI-FEEDBACK] and [MUTE] LEDs light up as a
display to identify the AC-90.
® Depressing the [TIP] (white) foot switch once while in this state makes
the LED:s flash to indicate the software version.

Version 1.00 | 1.01 1.02 | 1.03 | 1.04 | 1.05 | 1.06

Gt. CHANNEL
[CHORUS] ° — — ° ° — °
LED

MIC.
[CHORUS] — ° — ° — ° °
LED

[ANTL-
FEEDBACK] — — ° — ° ° °
LED

@®: flashing/—: dark

4.  After verifying the version, to quit the Test mode, switch off the power.

14

AC-90

Test Mode

1. ltems Required

¢ Headphones -- 1 set

* Boss FS-5U foot switches (sold separately) -- 2

* Roland PCS-31 foot-switch connection cable (sold separately)) -- 1
o Tester (for measuring voltage)

* Boss DI-1 (only when inspecting the signal level)

¢ Level meter (only when inspecting the signal level)

¢ Signal generator (only when inspecting the signal level)

2, Entering the Test Mode

Follow steps 1 through 3 of Verifying the Version Number.

3. Quitting the Test Mode

Switch off the power.

4, Skipping

No skipping of items in the Test mode is possible.



Jul. 2007

AC-90

5. Test Items

N o s WDN =

. Version Display (p. 15)

. DSP Test (Automatic Determination) (p. 15)

. Switch Test (p. 15)

. Volume Control Test (p. 16)

. Phantom Voltage Test (p. 16)

. Signal-level Test (Testing in PCB State) (p. 17)

. Signal-level Test (Testing in Product State) (p. 18)

6. Details of the Test ltems

1. Version Display

Version 1.00 | 1.01 1.02 | 1.03 | 1.04 | 1.05 | 1.06

Gt.
[CHORUS] [ J — — [ J [ J — [ J
LED

MIC.
[CHORUS] — ° — ° — ° °
LED

[ANTL-
FEEDBACK] — — ° — ° ° °
LED

@: flashing/—: dark

¢ Depressing the [TIP] (white) foot switch displays the version, after which

execution advances to the next test item.

2. DSP Test (Automatic Determination)

¢ When the test is begun, the following LEDs go dark temporarily.
GUITAR channel [CHORUS] LED
MIC/LINE channel [CHORUS] LED
[ANTI-FEEDBACK] LED
[MUTE] LED
® As testing progresses, the following LEDs light up sequentially.
GUITAR channel [CHORUS] LED
MIC/LINE channel [CHORUS] LED
[ANTI-FEEDBACK] LED
e Test OK (pass): The following LEDs flash.
GUITAR channel [CHORUS] LED
MIC/LINE channel [CHORUS] LED
[ANTI-FEEDBACK] LED
[MUTE] LED
e Test not OK (fail): The [MUTE] LED flashes.
When the test is failed, advancing to the next test items is not possible.

e Depressing the [TIP] (white) foot switch makes execution advance to the
next test item.

3. Switch Test

10.

When the test is begun, the following LEDs go dark.
GUITAR channel [CHORUS] LED

MIC/LINE channel [CHORUS] LED
[ANTI-FEEDBACK] LED

[MUTE] LED

Carry out operations in the sequence shown below and check the status
of the corresponding LEDs.

[PICKUP] switch

Changing the [PICKUP] switch from PIEZO to MAGNETIC makes the
GUITAR channel [CHORUS] LED light up.

[SHAPE] switch
Changing the [SHAPE] switch from OFF to ON makes the MIC/LINE
channel [CHORUS] LED light up.

[PHANTOM] switch
Changing the [PHANTOM] switch from OFF to ON makes the [ANTI-
FEEDBACK] LED light up.

[SELECT] switch
Changing the [SELECT] switch from LINE to MIC makes the [MUTE]
LED light up.

GUITAR channel [CHORUS] switch
Changing the GUITAR channel [CHORUS] switch from OFF to ON
makes the GUITAR channel [CHORUS] LED go dark.

MIC/LINE channel [CHORUS] switch
Changing the MIC/LINE channel [CHORUS] switch from OFF to ON
makes the MIC/LINE channel [CHORUS] LED go dark.

[START] switch

Pressing the [START] switch makes the [ANTI-FEEDBACK] LED go
dark.

[MUTE] switch

Changing the [MUTE] switch from OFF to ON makes the [MUTE] LED
go dark.

If any of the inspection tests up to this point is failed, the [MUTE] LED flashes
and execution cannot advance to the next test.

If all inspection tests are passed, the following LEDs flash.

GUITAR channel [CHORUS] LED

MIC/LINE channel [CHORUS] LED

[ANTI-FEEDBACK] LED

[MUTE] LED

[Foot SW 1] jack switch

Detaching the plug from [Foot SW 1] on the AC-90 makes the following
LEDs go dark.

GUITAR channel [CHORUS] LED

MIC/LINE channel [CHORUS] LED

[ANTI-FEEDBACK] LED

[MUTE] LED

Inserting a plug into [Foot SW 1] on the AC-90 makes the following LEDs
light up.

GUITAR channel [CHORUS] LED

MIC/LINE channel [CHORUS] LED

[ANTI-FEEDBACK] LED

[MUTE] LED

[Foot SW 1] [TIP] switch

Depressing the [TIP] (white) foot switch makes the GUITAR channel
[CHORUS] LED go dark.

[Foot SW 1] [RING] switch

Depressing the [RING] (red) foot switch makes the MIC/LINE channel
[CHORUS] LED go dark.

15



Jul. 2007

AC-90

12. [Foot SW 2] jack switch

¢ Detaching the plug from [Foot SW 1] on the AC-90 makes the [ANTI-
FEEDBACK] and [MUTE] LEDs go dark.

e Inserting a plug into [Foot SW 2] on the AC-90 makes the following LEDs
light up.
GUITAR channel [CHORUS] LED
MIC/LINE channel [CHORUS] LED
[ANTI-FEEDBACK] LED
[MUTE] LED

13

[Foot SW 2] [TIP] switch
Depressing the [TIP] (white) foot switch makes the [ANTI-FEEDBACK]
LED go dark.

14. [Foot SW 2] [RING] switch

Depressing the [RING] (red) foot switch makes the [MUTE] LED go dark.

15. [PHONES] jack switch
¢ Detaching the plug from [Foot SW 2] on the AC-90 makes the GUITAR
channel and MIC/LINE channel [CHORUS] LEDs go dark.
¢ Inserting headphones into [PHONES] makes the following LEDs light
up.
GUITAR channel [CHORUS] LED
MIC/LINE channel [CHORUS] LED
[ANTI-FEEDBACK] LED
[MUTE] LED
¢ Detaching the headphones plug inserted into [PHONES] makes the
following LEDs go dark.
GUITAR channel [CHORUS] LED
MIC/LINE channel [CHORUS] LED
[ANTI-FEEDBACK] LED
[MUTE] LED
If an error is made in the inspection-test sequence, or of a test is failed, execution
cannot advance to the next test.
¢ When all switch testing are completed, the following LEDs flash.
GUITAR channel [CHORUS] LED
MIC/LINE channel [CHORUS] LED
[ANTI-FEEDBACK] LED
[MUTE] LED
¢ Inserta PCS-31 plug into [Foot SW 1] on the AC-90 and depress the [TIP]
(white) foot switch to make execution advance to the next inspection test.

4. Volume Control Test

When the volume-control test is begun, the following LEDs go dark.
GUITAR channel [CHORUS] LED
MIC/LINE channel [CHORUS] LED
[ANTI-FEEDBACK] LED
[MUTE] LED

e Operating the volume knob makes self-oscillation by the DSP start, and
audio is output from the speakers.

¢ Until the inspection test for a single volume control ends, the volume
level changes according to the position of the control knob.

¢ In testing the volume controls, verify the change from minimum to center
and from center to maximum, and be sure to go on to testing of the next
volume knob while leaving the first one at maximum.

16

e Perform testing of the volume controls in this sequence: [MASTER] =>
[CHORUS] => GUITAR channel [TREBLE] => GUITAR channel
[MIDDLE] => GUITAR channel [BASS] => GUITAR channel [VOLUME]
=> MIC/LINE channel [VOLUME] => MIC/LINE channel [BASS] =>
MIC/LINE channel [MIDDLE] => MIC/LINE channel [TREBLE] =>
[REVERB/DELAY] => [FREQUENCY].

TREBLE  CHORUS

won s ACOUSTIC
e CHORUS

AC-90
POWER

¢ When the “minimum” setting of the volume control is detected, the
[ANTI-FEEDBACK] and [MUTE] LEDs go dark.

¢ When the “center” setting of the volume control is detected, the [ANTI-
FEEDBACK] LED lights up.

¢ When the “maximum” setting of the volume control is detected, the

[ANTI-FEEDBACK] and [MUTE] LEDs light up.

If a failed test occurs before inspection of the volume controls finishes, execution

cannot advance to testing of the next volume control.

¢ When the tests for all volume controls have been passed, the following
LED:s flash.

GUITAR channel [CHORUS] LED
MIC/LINE channel [CHORUS] LED
[ANTI-FEEDBACK] LED
[MUTE] LED

¢ Switch off the power.

5. Phantom Voltage Test

¢ Switch on the power.

e Adjust the [MASTER] volume knob to minimum.

® The settings of the other switches and volume controls are unspecified
(not relevant).

¢ Using the tester, check the DC voltage between each MIC/LINE channel
[INPUT] XLR terminal.

® Set the measurement range on the tester to 50 V or higher.

¢ Bring [COM] (black) on the tester into contact with the [1: GND]
terminal.

1. [PHANTOM] OFF Voltage

e Set the PHANTOM] switch to OFF.

* Bring the tester’s [+] probe (red) into contact with the [2: HOT] connector
and verify that the voltage is near 0 V.

* Bring the tester’s [+] probe (red) into contact with the [3: COLD]
connector and verify that the voltage is near 0 V.

2. [PHANTOM] ON Voltage

e Set the [PHANTOM] switch to ON.

* Bring the tester’s [+] probe (red) into contact with the [2: HOT] connector
and verify that a voltage of 44 to 49 V is output.

* Bring the tester’s [+] probe (red) into contact with the [3: COLD]
connector and verify that a voltage of 44 to 49 V is output.




Jul. 2007 AC-90

6. Signal-level Test (Testing in PCB State) 5. AC-90 Settings

The Test mode is used in the signal-level inspection testing. * Panel Settings
[PICKUP] switch: PIEZO
. . [SELECT] switch: LINE

1. Foot-switch Connections All other switches: OFF
Connect two FS-5U foot switches to [Foot SW 1] using a PCS-31 foot- MASTER volume: MAX
switch cable. All other volume knobs: MIN
The settings and connections for the FS-5U foot switch are as shown e Verify that the specified levels are output at the points indicated on the
below. “Circuit Diagram (Main Board: Analog, XLR Board)” (p. 26).

¢ Set the [POLARITY] switch on the FS-5U foot switches to the setting ¢ When you have finished inspection at all test point, switch off the power.

opposite that of the jack. This completes the inspection-test procedure.

¢ Foot-switch connection cable connection
The PCS-31 foot-switch connection cable is a stereo to standard x 2
adapter cable.
On the standard plug, “white” is [TIP] and “red” is [RING].
Connect the standard plugs to the respective FS-5U foot switches.

You can connect the white and red sides to either FS-5U unit.

2. Panel Settings

[PICKUP] switch:PIEZO
[SELECT] switch:LINE

All other switches:OFF

All VR (volume) controls:MIN

The unit will not enter the Test mode unless the settings described above are
made correctly.

3. Entering the Test Mode

With the settings in the 2’s state, hold the [TIP] (white) foot switch hold
down and switch on the power.

¢ Depressing the foot switch twice within 4 seconds after powerup makes
the unit enter the Test mode.

¢ Immediately after the unit enters the Test mode, the following LEDs flash
several times.
GUITAR channel [CHORUS] LED
MIC/LINE channel [CHORUS] LED
[ANTI-FEEDBACK] LED
[MUTE] LED

e After that, the [ANTI-FEEDBACK] and [MUTE] LEDs light up as a

display to identify the AC-90.

The LEDs are used to confirm whether inspection tests are passed or failed, so

verify that the following LEDs are able to flash.

GUITAR channel [CHORUS] LED

MIC/LINE channel [CHORUS] LED

[ANTI-FEEDBACK] LED

[MUTE] LED

*  When holding down [TIP] (white) FOOOT SWITCH once, the LEDs start
toflash to indicate its software version.
During indicating the version, when holding down [RING](red) foot
switchonce, GUITAR[CHORUS] LEDs light up, and then the unit
entersSingal-level Test Mode.

4. Oscillator Signal Levels

During GUITAR channel input: (mono phones input)
1 kHz sine wave of -10 dBu

During MIC/LINE channel input:(using DI-1)
1 kHz sine wave of -10.6 dBu
e DI-l1use: Signal-level adjustment at balance input and DI-1 input
¢ DI-1 settings: POWER=AUTO, ATT = 0 dB, s = NOR, GND = NOR
* 0dBu=0.775 Vrms

17



Jul. 2007

AC-90

7. Signal-level Test (Testing in Product 5. AC-90 Settings

State) .

This is for testing the signal levels at the respective output connectors while in
normal state.
Perform this when verification of the output-connector levels is required.

The Test mode is used in the signal-level inspection testing.

1. Foot-switch Connections

Connect two FS-5U foot switches to [Foot SW 1] using a PCS-31 foot-
switch cable.
The settings and connections for the FS-5U foot switch are as shown
below.

¢ Set the [POLARITY] switch on the FS-5U foot switches to the setting
opposite that of the jack.

e Foot-switch connection cable connection
The PCS-31 foot-switch connection cable is a stereo to standard x 2
adapter cable.
On the standard plug, “white” is [TIP] and “red” is [RING].
Connect the standard plugs to the respective FS-5U foot switches.
You can connect the white and red sides to either FS-5U unit.

2. Panel Settings

[PICKUP] switch: PIEZO
[SELECT] switch: LINE
All other switches: OFF

All VR (volume) controls: MIN

The unit will not enter the Test mode unless the settings described above are
made correctly.

3. Entering the Test Mode

With the settings in the 2’s state, hold the [TIP] (white) foot switch hold
down and switch on the power.

® Depressing the foot switch twice within 4 seconds after powerup makes
the unit enter the Test mode.

¢ Immediately after the unit enters the Test mode, the following LEDs flash
several times.
GUITAR channel [CHORUS] LED
MIC/LINE channel [CHORUS] LED
[ANTI-FEEDBACK] LED
[MUTE] LED

e After that, the [ANTI-FEEDBACK] and [MUTE] LEDs light up as a

display to identify the AC-90.

The LEDs are used to confirm whether inspection tests are passed or failed, so

verify that the following LEDs are able to flash.

GUITAR channel [CHORUS] LED

MIC/LINE channel [CHORUS] LED

[ANTI-FEEDBACK] LED

[MUTE] LED

e When holding down [TIP](white) FOOOT SWITCH once, the LEDs start
toflash to indicate its software version.
During indicating the version, when holding down [RING](red) foot
switchonce, GUITAR[CHORUS] LEDs light up, and then the unit
entersSingal-level Test Mode.

4. Oscillator Signal Levels

During GUITAR channel input: 1 kHz sine wave of -10 dBu
During MIC/LINE channel input: 1 kHz sine wave of -10.6 dBu
¢ DI-1 use: Signal-level adjustment at balance input and DI-1 input
e DI-1 settings: POWER=AUTO, ATT =0 dB, o = NOR, GND = NOR
* 0dBu =0.775 Vrms

18

Panel Settings
[PICKUP] switch:
[SELECT] switch:
All other switches:
MASTER volume:

All other volume knobs:

PIEZO
LINE
OFF
MAX
MIN



Jul. 2007 AC-90

6. Output-level Confirmation
With a dummy load resistor connected to the output jacks according to the following table, check the signal level at each end of the dummy resistor.
* The values shown are a rough guide. Actual values are subject to volume-production fluctuations. (Approx. +/-1.5 dBu with respect to the values in the table below)

* For the dummy load resistor, use the plug indicated under “Connection plug” in the table below, and connect the resistor between the output-connector signal line and ground.

Output connector Dummy load Connection plug Output level during Output level during
resistor value GUITAR input MIC input
DI OUT TIP 680 Q (1/2W) STEREO standard -8 dBu -8 dBu
DI OUT RING 680Q (1/2W) STEREO standard -8 dBu -8 dBu
SUB WOOEFER OUT (MASTER VR: MAX) 47 kQ (1/2 W) MONO standard -11.5 dBu -11.5 dBu
LINE OUT (MONO) 47kQ (1/2W) MONO standard -8 dBu -8.5dBu
LINE OUT L (HOT) 680 Q (1/2 W) XLR -10.5 dBu -10.5 dBu
LINE OUT L (COLD) 680Q (1/2W) XLR -10.5 dBu -10.5 dBu
LINE OUT R (HOT) 680 Q (1/2 W) XLR -10.5 dBu -10.5 dBu
LINE OUT R (COLD) 680Q (1/2W) XLR -10.5 dBu -10.5 dBu
PHONES L 100 Q2 (1/2 W) STEREO standard -1.0 dBu -1.0 dBu
PHONES R 100 Q (1/2 W) STEREO standard -1.0 dBu -1.0 dBu

When inspection testing is finished, switch off the power.

19



Jul. 2007 AC-90
Block Diagram/Wiring Diagram
JACK BOARD
LINE OUT(MONO) — on
LINE OUT L COLD %
GUITAR INPUT N P oIl W11 g% L1l LINE OUT
E L = IC10 LINE OUT L HOT 8 ° -
AK4552VT 1>
AD/DA LINE OUT R COLD _% R
T Lch WOOFER
‘ I: LINE OUT R HOT HOT STEREO
— POWER AMP -
MIC/LINE INPUT
% W10 % l|> 1C16 > ] l Lch TWEETER
= AK4552VT ¥ /|| WO NE 3
° T —i >+ AD/DA —i > || I Rch WOOFER
MASTER VOL
XLR BOARD e 7 ‘ B
— ‘ AMP BOARD Rch TWEETER
CHASSIS GND
IC5 IC6
TC220C120AF-006 S29A1004D70TF1020
DSP FLASH MEMORY
> L
PHONES
=0 =i
. ™S []
- -
Z|K w14 )| T
I< IC4 ] = SUB WOOFER
VR,SWITCH,LED | HD6413006 < SUB WOOFER OUT OUT El] ouT
= - CPU
5 5 AUX IN L(MONO) HUOND)
<— 0
PANEL BOARD ‘ AUXIN R QRED
AUX IN
—_— L
AUX IN L (PIN) z <’l@> :6 @
AUX IN R (PIN) 3 R@
|-E 9—| POWER SUPPLY Nl
W4 POWER SW W4
*+Vcc C:l =1
© FOOT SWITCH
4 > — —)|E +12V =0
® +3.3V DI OUT HOT
TRANSFORMER
PS1 BOARD W7 PHANTOM DI OUT coLD g =11 || bl OUT/TUNER OUT
No. | PART CODE | PART NAME | DESCRIPTION | QTY
MAIN BOARD JACK BOARD W1 | SD001015 | WIRING W1 | BLACK(1P) 1
- W2 | SD001016 WIRING W2 | ORANGE(1P) 1
- W3 | SD001014 WIRING W3 | (6P) 1
CHASSIS GND W4 | wwmeer WIRING W4 | BLACK(1P) 2
W7 | e WIRING W7 | BLACK(1P) 1
WG | wrwer WIRING W8 | BLACK(1P) 1
WQ | *rwsren WIRING W9 | (13P) 1
W10| *eeweer WIRING W10 | (4P) 1
WA | *wwses WIRING W11 | (8P) 1
P WIRING W12 | (12P) 1
WG| *resres WIRING W13 | (13P) 1
WG| wxwssein WIRING W14 | (15P) 1

20

21



Jul. 2007 AC-90
Circuit Board (Main, XLR Board)

|

000 ()
oJele [ -
@, O
O - 0
@
O
® s ] : | T ) [
HROROR00095000 0000000 of |o @

(4
.\"—m
~ rA
\/ L




Jul. 2007 AC-90

Circuit Diagram (Main Board: Digital)

=
x

RESET

M_DA_SP DASE
< MADGIR £b_oR
G MDALN DALINE
d MAD_MIC £D M
< M_LRCK1 2
o MBCK oK
M_MCK
D+3.3 D+3.3 i
=3
+ S
D83 N 5
. - o
D 3.3 g4 / \ « C33 10125 Q
ﬁt ° ki1l 0\
R8s A58 | g €35 C36 C37 C38 ) g
1k 10K 0.4 01 01 0.1
- D33
ol v
c41 AN 1
N1 R <l
N
g
10125 %D 3
MOPE4 Al0:17]
e 75 888 8 97 _sw2 /
281 D2 £ 888 PA4/A23/TIOCAT*
I 244 D1 < PAS/AZ2ITIOCB!* e —SW
MDO PAG/A21/TIOCA2* [-22—SWSTDBY / \ \
% PA7/A20/TIOCB2" (20X
pL—824 78y Atg 82X 7 2 p s
PH CTL 5 Atg 22 1 m7 patsia o A 5 DA LINE
M_PHCTL & F5 5 TXD2ITP14/PB6 A7 22 A16 DQ14 S A 58 AD GTR
RXD2/TP15/PB7 Al6 At5 DpQ13 g 5 P ADGIR,
M_CPU_MUTE §§ 7| SCK2/LCASIPBS/* N Al4 DQ12 -2 A o ek
M_USR_MUTE DL MUTE 3 A4 A13 Qi A
R428 SR429 | MIDI_CONNECT. 15 | X N NG RN LLRCM
100K 3 100K USR_MUTE 17| XD e MoK
TRQB/SCK1/P95 A1 o A10 Qs - 27
Al0 A9 DpQ7
|67 DASP
b ) LUDL OUT 121 TxpoiP90 A9 A8 DQ6 - 28 | DA 5o
b b 14 1 40 29| AD_MIC
S0 4 RXD0IP92 A8 181 a7 DQ5 2 22
TRQA/SCKO/P94 A7 o ne oot [ om = D+3.3
DA'3.3 DNB.3 DA'3.3 DA3.3 R608 2 P 21 A% Dol 35 ¢ T
1k 22 | 31 36 |
ica Al 23 | A3 DAt g 37
5 A3 21 n2 DQO
3 css g g él él é[ g g é[ é[ g ¥ g s é[ g HDG413006 " 257 SNCE D+3.3 D+3.3
B ~S-3InS ;3 Q823 o A0 & " NC RD 504 032 |
155 n3p393pSsinsesniniesssgiaiess 0?3.3 DR3.3 ne cs 51 DSP (MR3) 77
EE— Pi— < «
> 1 & cap CX-49G D14 I I RAS WE NC OR'3.3 = e
5| 2 S a— 10MHz %109 RESO D13 p—2 NIV oE NC e NS
3 D12 L41 BYTE x-41g
Q 1 SWi1 - D11 (32 RY/BY vee L %404
o 5 15P M1 D10 22 WA RA4 -394 R2ANAn2TK C51
< 3 N | 28 Lol NIU 1 [ -y <] 76 + 0.1 +
ol ¢ xtE2 | RB 7=, D [2r Te] T RESET o SHLS cag ! oz T oz
I 47 = 35008
3 8 cse |~ ALAN—B8 1 ExTal p7/Pa7 2 iy RAS css vss L T T
1| gho T T orie s LT Wl A R B S——
< | "3 RS 15P 1144057 R156 Dajpad Q0 e R28 ® saeaLooaprotriozo”””” § [ [
a 12 b T 77 D3/P43 1 A %: 1025 =75
) |, —E VREF D2/P42 10125 g
B | 1025 = 85 |
=  —yRar 1 105 P77/AN7IDAT D1/P41 2 23 fwlE4 R B29 5
X33 2 Y E—TN PTSIANGDAD DO/P40 =T oK
I 7 2 TWR
| — e 821 Pra/AN4 AWR pLL XHR 10K —e D33 o M 25 ICs
7.’”_ /—L— P73/AN3 WR pL2—X 429 TC220C120AF-006
oN14 | — e ——————— & PraIANZ R0 b2 ARD R402 [I
— /w 7 D&)(
@ 1 D> M_MAG_AH j—SWEDL 181 p70/ANO PEOATAIT (25 ELASH RY/XBY Ccs8 59 12
e 86 WAL 22 20p
8| & SWPHTM, ] Avss POVBREQ 60— swebiz 10K
5 3 P P62/BACK ) 5
a 4 P67/FAL 63 N
e 5 SH>M_ISEL RES cX-49G
z s SWMIG J.cso 11.2896MHz 0 P
2l s Swpz cs7/mvooiPBor H————SHSE | N
“ 9 s‘gg., LEDS % PA3/TCLKD/TIOC CS6IDREQU/PB1/* J—3-QAN—H ;,
o R = LEDO PA2/TCLKC/TIOC CS5/TMO2/PB2/ [H——SWBZ_| B =
94 | TEND1/ g TSADREQT, " D
zZ SCAN B WML 93 | PA1/TEND1/TCLK’ B3/’ MMH
g oY PAO/TENDOITCLK' cSg 28— 3RALE 1 e
90
o
IS . 91 . %0.01
v, bX3:3 o TCASITP12/PB4. -5 SWEHTM bA3:3 o 7770
- PEO/IRQO/RFSH
b R42 S SR43
X K | ¥ 38 8 3 8 8 10K!
= - C608 > > > > > > MoK
S8 0.01 o o = & 8 o L__DSP_XCS ¢
z 2|2 Rl B I FLASH_XCS
M_XCHO ) WCHO
MXREY ShREVT ]
M_XPDL SWI %
M_XPDLM SW\LAF o
M_XPDLAFS =
M_XPDL2 & SWP!
(2)from ANALOG block
CN1
(2)from ANALOG block
PHONES
swsp
M_XSP
NLVRMST; VRMST
(2)from ANALOG block
MASTER VR DA'3.3
2 Mg @l l DAl 1ss302
[ Ra]
-
\ PORT0:0] /
2 Mg @l 14 DA2 1sS302
]
™ C69 DA3.3
0.1
2 Mg @l 14 DA3 1SS302
]
|4 XRESE
o Ds Q our L
>
2 Mgell4 DA 1s5302 e 2
= >
ic7
2 Ml 1) DA24 1ss302 §-80130ALMC-JAP-T2
I ;
-
2 Mg @l 14 DA25 1ss302
]
-

2 '=_|4| 1 DA26 158302




Jul. 2007

AC-90

Circuit Diagram (Main Board: Analog, XLR Board)

DA5
10 61 MIC. : =6.6dBu @7 Rett A%
3 2SC4116GR 56K
70 Rea €3 R63 C75  2SK8BOGR v, A2 188302
c71 10116 56K s B!
0012 12k arp 76 e c7a 110/ 1 .
~05dBu — e 19 N Re7 Res a2 iz
" R69 +— o 100k 100K - c8o c435 25K880GR
cs 4 .
10116 R70 A IC17A 10P + 1 2,
" L e I+ 120 180 c83 o < o4 R72 10K UPC4072G2 J G0
YKB21-5012 BLM21AG102SN1 ~ C82 Film H GH 41 N >~ LouT M8 H > A 10/16 100K R416 —— C500
N +HI ca12 [ 1 1 Q2 Ra13 R415 o 100K
DA7 Noviz082m 10116 e, 1one 7P p 1C12A &y /25c41166R 5.6k
4 1 1sS302 NIM208 cer AK4552vT 88 ATP 74 10K R7S UPC4072G2 DA8 A A A
el GLO 4 Il -~ RoUT |16 H tap 158302 Rl gy
1kHz sin wave A Nwms i 1016 56K 2 1 3.3K
~10dBu v, 220k D33 91 spmi spTo &
(At level check mode) 90 j R76 ek | co1 c92 o A
U 47P 1016
01 M_MAG_AH R78 LRCK 1] LRCK vcom cos R0 o 14410 v,
= A BCK 1 | MoK 01 A |/
- From DIGITAL BLOCK 10KD DR33 e ' 10K R&2 R83 1 cor
R81 R84 < l c96 N"g'zwo"ﬂ DEMO @ R85 10K 100K 100K
2.2M 10KD Lz 0.1 cge Dja, 3 XRESET i3] DENO @ . 1o wop
777 A co5 ® = L — N
10116 777 A g G0 ~DALN | co4 cos GtINPUT : ~7.5dBu 22M
- 18 22/50 4P MIC.INPUT : -6.6dBu
AD_GTR - — DAY
R419
icoc +a1p 158302
NJM2100M 2 ,
as LEET
P 7%; IC13A % c106 25K880GR B v,
+a1p 158302 407262 A 1016 1 .
LE_EEJ? b
! R88 RE9
« -T2 - 100k 100k — cior
C109 10116 R94 Ro5 47K A IC178 A A 10P
+Hh TR From POWER BLOCK iy DA20 R0 10K UPC4072G2
9 R96 C112 | L47P M_XMUTE J)—— 155302 7 A 8
+E 47K f 5 1 ca13 d & R91 ' Nis
C11 4016 | DA13 IC21A 4254y 16 4P Ro2 10K IC128 2.2m DA12 A 1 =z
A2 155302 UPC4072G2 2SKB80GR B v, R93 UPCA0T2G2 aa20 168302 four w7} 8
2 1 p |
L@j C502 0022 R502 47K 1c218 A 1 1 . 56K ® oM ?_2_@_11 LouT it 3 F
- 3 WE_OUT -2 UPC4072G2 > R212 c110 c113 2SKB80GR A LOUTLC 51 <O(
z Fonte L 100k Ra13y 100« 47P lgt0e 1 . loUTRE 612 (Q
4 7
o LN RT %/7— Rt A A L cou A X
a M_LN LT a2 ic138 22K Rrots| R216 R217 R219 Ro8 Ro9 L cia 8 2
© DI_HOT 2 1 UPC4072G2 10P il
2.2M 100K 100K S
g DI_COLD DA14 v, ? ; | s 10K 10K 101 A A 10P A5 e
M_XREV 15530277 R2TE 0.1
@ B . c245 Cc246 R426 —
e MXcHo C124 10116 RI01 L ” 18K 4P 47p oM A ic17¢ I " —s GLINPUT : ~7.5dBu A
[} T - i = UPCA4072G2 7F o0 ap MIC.INPUT : ~6.6dBu
B 5 = N
< M XPDLAF o R103 C126 \ 47p DA3.3
° MXPDL2 S TR 1 00015 10k DA23 w220 o
L c125 a2 158302 +
10/16 oAts C601 R601 42 5dBu 12 7z A 2.2M +a1p 188302
2 R423 12
2 1 1SS302 0115)/‘:6 o R221
C501 0022 R501 47K ] v, P 1 RA08 o oK 221
7o 1 01 -2 M_USR_MUTE ) c1205/$6 o -2
C256 a2 cns e From DIGITAL BLOCK a2 7 C4%6 e g 2B 2 WE_OUT
0.1 - R2§ Q18 R226 c1g ; 33K o R222 =t .
f CPU 17pin 2SC4116GR | 47/25 4.7K =
# 100K - L cose
a![ & cas7 % cite 100K 1 o0 RA07; a1 R224
Ic13c L Tion1e ic21C L o6 A A 820 100K_|_10P
UPC4072G2 UPC4072G2 25K880GR 10P ic12c A A
%7 %7 "2 2 ¥ A
v i A UPC4072G2
z A oz 2SK880GR
10116 M_POUTL
002515 ;12 68210 v, ;;'M:Pouﬂi
To POWER BLOCK
S>M_PMUTE
Ri0e 10K To POWER BLOCK
From DIGITAL BLOCK o CN4
R107 C169 1 C186 1
CN14 c127 Ic14C 0.1 0.1 2SC4116GR
M_ISEL ) 1 NIMASEOM s oM "(_r* c187
0.22 + c170 NJM208: J
™ A L “ione I 016 o
ecattecr
% % 2sc4
R B
A peii A DA3.3 J 1.3dBu
10 v1 oz 1A R109 DA )
@ ?Q;ng - ci76 N e 10 v (VR setting To DIGITAL BLOCK
1 10116 1 X
DA18 cis gy ciss ci28 c129 RIB  C130 MAX) o o CPU 2pin
u 01 -2 01 V12 1016 1016 8.2k 0.0027 C153 39P From POWER BLOCK S>M_XSP
4o 158302 C131 Y ! > _
M_XMUTE D)———9
Ris c138 4P C136 R130 5.6K R131 39K - L9 BLM21AG102SN1
3.3K ~115 +—| {10 BLM21AG102SN1
-2 -37dBu  C140 R121 < 01 [11 BLM21AG102SNA1
47P “ 10/16 8.2kD 18kD Actas R122 10K C144 VRIA c145 an R123
c141 0047, R120 on c142 o < 10/16 RK0971410 10/16 2SK8BOGR
o ——, L, TR & 1 MOHL e N > 7 Lot HE— ™~ 10KBX4 o 1 2 120 T
4
3] c1an R19 f 10K 3 /{NSA 1016 1c16 1016 cateL o3|, a & = =
1016 R124 C414 220P NJM4580M 0471; - NJM2100M C149 AK4552VT C150 NIU IC11A 12 R126; =
4 6 ., C148 47P NI 4 rout |18 " UPC4072G2 100k R140 = —
22K R132 R133 s N RIN T R0 A | 22m A Cuar
1016 10/16 4 :
a \ceB DA'3.3 R138 R134 9 | spyy spTo -2 A q _0.7dBu | IC18A NuU L
A 22K g 10K NJM2082M wrsr 39kD 5.6kD LRk ; NJM4556AM JK2
. vcom tteing :
C154 e 1. T z ek 1] pROK c1s5 777 VR setteing : max R427 A YKB21-5078
i X & 5 ﬁma BLK s 12 BeLk 01 R139  C160 22M 61 .
cies  Rial | S = 21 DEM NIU 2
o 1148 3 o Rusg b L cise NJM2100M DEMt 82k  0.0027 c177 30p 65 Ris 2
s o C418 2207 gndassom | L : 8 wko$ HE 0.1 cies ngsva XRESET BpeNC 8 22116 22k — elel cies
00047 33K = R153 5.6K R154 39K i 1°l° |
_10.2dBu A LI A ‘% I o5 167 DA_SP C156 i . L
DA19 -2 L 1016 A 2.2/50 Ri48 10K VR1B 10/16 777 A 0.1 7770
o SN M —-— e
Ic15C 7 ca19 R14 22
NJM2100M ca20 L El R150 Q12 RI52 U
: NIU > ons 2SK880GR 7P 22k
K3 1kHz sin wave UPC4072G2 22 100K c174
~10.5dBu % _ cant R142 Y A Ic188 A 4
(At level check mode) A g 01 a2 DAF3.3 0 NJM4556AM -4
5 ¥ g dBu
o
L406BLM21AG102SN1 R157 N2 From POWER BLOCK o - 1.3dBu
L405BLM21AG102SN1 12W  6.8K cng  © e} caz2 | caz3 | caza 777 A VR setteing : max A (VR setting : MAX)
1 L 0.1 . 01
PHANTOM 1 [ 1 {M_PHTM 3 o4
% T G COLDZ | ) 21 ﬁ ci7s a2
G R15 gl HOT 2 1y 3 ca25 Wiy 0.1
S 120 6.8K 4 i 0.1 VRIC
%7: R159 “4 [+ c179
AD_GIR D o RK0971410
C192 10/50 — B4B-PH-K-S —T\L MﬁAnism%‘ o “ione
N = -~ A MAD MIGeo—AD_ bl 5 10KBX4
1= BLM21AG102SN1 100
10 S R160 M_MCK MaK
H 7777777 TRF M_BCK C426 C180 «
€193 10/50 330P | 220K ?'95 M_LRCK1 0.1 oo
NCJ9FI-H | }—% DA LIN opzs  VRID
M_DA_LIN clg2
b |cre7 J77A 017770 M DAﬁSP; DA SB ca2r [+ 10 icigc 0.1 712
R161 0.1 Ic11c o NJM4556AM
L15 R162 Co16 UPC4072G2 S5
BLM21AG1025N1 100 Tazop 220K M XRESET Y)>—XBESEL 0.01 © S>M_VRMST
= c4a28
b 62 oo 0.1 # T 3 To DIGITAL BLOCK
CPU 81pin
BOARD L > 5 T7a o 777

26

27



Jul. 2007

AC-90

Circuit Diagram (Main Board: Power Supply)

> M_XMUTE
A2
To ANALOG BLOCK
R2 R425 R1
10 10 47K
A
R3 RS - c1 §
100K 22K 4 o DA'3.3
1 L IR o0 v D2
By k7150 R247 Q@1 om o] 15532
2SA1586GR
D1 " I o e Qi HLCPLMTE D R245 Q22
33K
18835 N - From DIGITAL BLOCK 3864116GR
c2 R CPU 7pin
1/50 2SC4116GR
R4 A D3
1K 185352
«~ A7) i
Q2
25C2235Y
2 Q 1 S>M_PHTM
~ To ANALOG BLOCK
s R6 « Ra48 XLR BOARD
i 100K .
1N4007G 25A965Y
AC24.8V - 15K | Q23
F7 +
ot o5 7 © R7 R249 N
Q N Iz 22100 | 100K | 100K
KME 100/100BP ~ 100/100
MRT80mAL 250V c6
£ 05 D6 + 1 Q24 SR250
1N4007G RDA47S = DTC114EUA 47K
- i 100/100
oS MPHCTL o]
From DIGITAL BLOCK
CPU 8pin
P +VCC/-VCC
[ Rated | o signal
VPRIV 5% input 5%
5% [165(16.1)] 19.4 225 | 263
173|204 241 | 277
5% | 182 214 £5.1(298
+VCC1
P
CN8 F2
MRT4AL 250V
; t
R610
j - 10k )
: cn L 12t
6 |8 EC8472MH ] p— L
"
B6PVH t To Amp Board CN1
Y o7 3
FL402 h M_POUTR
M_poUTL
+ R611
c1s 42 10K M_PMUTE >
— k70050 F3 ca06| ca0a| ca05 B13B-EH
MRT4AL 250 0.1 01— o1
- o
R 777 A
-VCC1
+VCC2/-VCC2
Rated |no signal
VCC2 -15% Power | input +15%
5% [135(13.2)] 159 | 187 | 215
142 | 167 | 197 | 22.7
5% 149 | 17.5 | 20.7 | 23.8(243)
+VCC2
s
DA'3.3
F6 1©1 100mA L1
R609 R14 UPC2033AT _— _ BLM21AG102SN1
1 IN out
MRT 39 39 2
125mAL250V  3WMOF 3w MOF o
N
+
c22 L ciegy co c20
0.1 0.1 100/35 0.1
;J , D
IC2
NJM78L12UA 30mA — a2
4 90mA (PHONES)
3N out H
MRT —400mAL 250V J_czs 2 J_
o c27 *
= = brid
o0 R612 czs H L& p20
o c2s G4t 10k 0.1 0.1 100/35 188367
2200025 J
c21 L
EC8472MH T \
N awms2
F5 c29 c30 c32
220025, % R613 L i L c31 & 02
L 10k T - 10035 158367 A
MRT 400mAL 250V 01 = 0.1 N
8
21N out 2
ic3
30mA — A
> NJM79L12UA 90mA (PHONES)
-VCC2

28



Jul. 2007 AC-90

29



Jul. 2007

Circuit Board (Jack Board)

BOODEDEE N
i @ U @

]

J—U—U—U—U_LD!_U—L

30

AC-90

31



Jul. 2007

AC-90

Circuit Diagram (Jack Board)

FOOT SW
MUTE/ANTI-FEEDBACK

FOOT SW
CHORUS/REVERB

AUX IN L(MONO) |

AUXINR

AUX IN

C609 C610 C611

1401 BLM21AG102SN1
L402 BLM21AG102SN1

R401

1o)
JK401 01 01 041 ~ CN400 1400
BLM21AG102SN1
i 1403 CN11 (ZJ 1 5 N i‘400 1.5K BLM21AG102SN1 ) JKaoo
] - 2 A =
\E 2 = > | 3 o | 3[E—tour e = %01~ [| [LINE ouT MONO
= 5 O [i4 4+ [4_LOUT RH 10116 1
|£83 ] _ 4y o 8 s[5 1ouTic R400
5 T 6 |QUT RC }
3 [] L404 62 < s} ¢ [Z_AGND_jacK 100K C401 YKB21-5012
YKB21-500 —lﬂ— BLM21AG102SN1 DLCOLD 7 8 Z 8 [
I i LN LT 98 > <§‘: B8B-PH-K-S 01
F 7770 7770 Log BLM21AG102SN1 'I:m fg ]? 10 = ° e
JK11 L29 BLM21AG102SN1 [N RP 7 11 s = F
5 130 BLM21AG102SN1 LN RE___1211p S e
5 13 = c212 R176 BLM21AG102SN1
2 EE B13B-PH-K-S e AN =
3 =
12W |
] L2 10/50 R187 330 LINE OUTL
A [] 7
YKB21-5001 BLM21AG102SN1 100K
s L19 c215
C216 R178 BLM21AG103SN1 , :
5 Voad N " —— —— YKF52-5003
1N+ v 0.1
C612 C613 C614 R228 |37 12W
01 01 01 c251 15K BLM21AG102SN1 JK12 10/50 R188 330
. [] [ suewoOFER ouT 100K
JK4 BLM21AG102SN1 R173 s
—AWY F
vﬁ_ _L R2292 100k F 01 YKB21-5012 L22
) 220 C210 R174 C220 R182 BLM21AG102SN1
100P 47K N A
YKB21-5012 C211 T TRT YWv
| 12w |
R230 L34 JK13 LINE OUTR
0 |1 0253 15K BLM21AG102SN1 10/50 R189 330
o2 o A : |:| [ DI OUT/TUNER OUT 100K
JK7 BLM21AG102SN1 R179 10/16 TR e 1 OUT/TU ou a2
v—f?i—.i % 2‘254 R231  BLM21AG102SN1 (;224 R185 —— —— YKF52-5003
_L c217 R181 T €255 TR W =
: 0 100P 47K 106] 8 | YKB21-5010 12w L24 0.1
YKB21-5012 €219 T =28 10/50 R190 330 BLM21AG102SN1
} NSBST FO1
I R 100K
0.1
F 777 F
JK5A L17
YKC21-3091 BLM21AG102SN1 R175
o012 = AV
I:I_ L23 220 J_
2 BLM21AG102SN1 c213 R177
|—|v- ‘|’ 100P 47K
11
R183
JK5B
YKC21-3091 J_
220
D_V © c221 R184
100P 47K
c222
e

§_m_

32

33



Jul. 2007

Circuit Board (Panel Board)

o
VAR:

N/ e
O O / __1C
~ N ~ S
N/ \/’/ \/ \/
2

Seri (ﬁaﬂ
e

1 11
BN OCT\

\\

0

7\
.~/

QP
3O

7\
.~/

(o=

O] o O
00 000 () ¢

00 00 L[ZEIJ

()O[J

o O
0®0

\/

7

()




Jul. 2007 AC-90

Circuit Diagram (Panel Board)

DA'3.3
R300

1K

L-34HDSL L-34HDSL L-34HDSL L-34HDSL L-34HDSL LEDS
‘l

2SC4116GR 2SC4116GR 2SC4116GR 2SC4116GR
N12 10
D PAVREE 1[, Z
P_SW3 2], O
P_SW2 32 a
POWER G 5(:
ANTI FEEDBACK Gt. CHO MIC CHO 5 LEDS =15 S
PLlEDs 719 0
P_LED1 814 >
P_LEDO CH 4 =
PVR10 103, <
PVvRO 111 =
P_VR8 12 o
P_VR[0:7] 12 )
1C20 / VR2A VR3A VR4A VR5A VR6A VR7A VR8A VROA VR10A VR11A VR12A B12B-PHKS
TC74HCA051AF | RK09L1140 RKO9L1140 | RK09L1140 RKO9L1140 RKO9L1140 | RK09L1140 RK09L1140 RK09L1140 RK09L1140 RKO9L1140 RK09L1140
3 4 P_VR7 10KB_ 10KB_ 10KB 10KB, 10KB,_ 10KB_ 10KB_ 10KB_ 10KB 10KB 10KB X
Com " PVR6 /|
85 P_VR! R197 R198 o R199 © R200 0 ~ o R205 I R206 2 R207
16 PVRS x
D£F3.3 i 1 P_VR4 g 3 3 3 3 100 3 100 °>C| 100 + Cc208
16 1 vee 342 P VRS o a' o 2! 2! 2! 2 o 2 z
_L 5[5 P VR2 10/25
€230 C231)* 1[4 P VR1 A 1 1
1025 01 F= 13 P_VRO €240 C241 C242
e . 0 1% 1% 1%
cle P_SCAN_C
B 10 P_SCAN_B D D D D D D D D D D D D
A P_SCAN_A
Zlvee W |8 [Mic.Volume | [Mic.Bass | [ MicMiddie | [ Mic.Treble | [ GtTreble | | GtMiddle | [GtBass | [ GtVolume | [ cHORUS|ANTI FEEDBACK |['revERB/DELAY
ey L FREQUENCY
N1
P_MAG AH 1 [,
P_MAG AC 2|, <
P_SWPHTM 3 | 3 -
PPLUS 41, zZ
P_ISEL 5] ©]
P_MINUS 6] [a)
P_SWMIC 71, 14
PSWPZ 8| <
P_SWO0 91, (@)
PVRO-7 103, m
P SCAN C 11 | 11 =z
P_SCAN B 12 | 17 =z
P_SCAN_A 13
| 2
DA'3. o
15415 | &
. B15B-PH-K-S
c261 czezl
D
0.1 0.1
SW5C & & o & § §
SSSF021500 o O swsA O swsB D D 17 ) ] Y SW2A O swaB O swsA O swsB SW4A O sw4B SWOA SW9B
ESB64619 ESB64619 O swra O swrs O sweA O swes ESB64619 ESB64619 ESB64619 ESB64619 ESB64619 ESB64619 ESB64620 ESB64620
0/’8 SW5A SwsB ESB64619 ESB64619 ESB64619 ESB64619
SSSF021500 of SSSF021500 ~ N o
q o & &
o N o N
- Y ] N
D D D
7'|/;F ;D Fj‘7F
ANTI FEEDBACK
PHANTOM LINE/MIC PIEZO/MAGNETIC AUTO

36 37



Jul. 2007 AC-90

Circuit Board (PS1 Board)

-
O © [12=3[45le[7Zglshd © Ow
AC—90 PS1 BOARD
(=] Roland pcs Assy No.SD000990
o
(@]
TER2
HOT @
@ BLK/BRW
TER1
1|8
| 2 [Z50/240V[T515AL 750V s
E 2|2

38



Jul. 2007 AC-90

Circuit Diagram (PS1 Board)

FUSE1
100/117V | 5ST 5AL 250V
230/240V | 5ST 3.15AL 250V

POWER SW
JW-L11RKK
—o/o—
=t =
100V E s
117v —
230V WP1 WP2
24 OV TER1 N N FL1 TER3
PT1870502 FUSE1 ELF17NO30A  PT1870502
1 Lo /o 1 p
L 2
1 4 3
ca6 L R19 4
PA224-L T MW 2 3 Transformer g
TER2 TER4
PT1870502 PT1870502
[ | 1
L
TER5 T
PT1870502 '
SRR
PS1BOARD \— 100/117V only
L u—

39



AC-90

Jul. 2007

Circuit Board (Amp Board)

40



Jul. 2007 AC-90

o O

N\ N
\/ \’

41



Jul. 2007 AC-90

Circuit Diagram (Amp Board)

for PIC for P. IC é R20
Analog Digital 100k
+ &
R16 g L10
10 S EXCELDR35V R22
10
= "
€50 A 100k
c36 c37 c3s b+ L o1 A 1 [+
01 T arouFiasv HE azouriasv HE W UL cap
-|— ca7 7 47/16
7 Ccas 158352
0.1 L 470F/63 -
c51
c39 ca0 Lt cat o Los Q@ 777A
0.1 -|-470uF/35v L a7ouFiasvEE 2SC4116GR
4 RED
= A Lch Woofer
R17 Iy H Nonclip-Fullpower
+
10 EXCELDR35V ¥/ BLACK 2fdf;1/fg\£’D
RS c2 c3 c4 cs8 | @40
> A A 30k 2200 220p 6.8/50NP  6.8/50NP L7
7 IS ISl
N N
; c1 A L2
0.1 c6 A & 0.18mH
SR® co c c10 0015
S 22k cs 0.1 01 1 —
L_‘ ’__| 01 L_ R6 13 WHITE n
c7 T 10 998AMF-134 | Lch Tweeter 4ohm
- 0.; % 7; 7; - =
FL2 A A R7
R8 ci 22 3w cag CN1
SHO-301 3.9k 10/50NP o 0.015 ) B6P-VH
N 9 M N 9 L Lch WooferSig 6 |6
N vV _L N c2 L c13 ! Lch Tweeter Sig 5
- = [$) w - - 5
c14 _L c15 2 Iz @ a L& 06850 T 0.22/50 Lch GND 4 —
+ [} [ 4 ————
sl ; R9 220p R0 C16 220p NP5 @ o ) g 3 Rch GND 3 ORANGE Reh Woofer
5.6k 5.6k 10/50NP > > > > c49 - 3 + Nonclip-Fullpower
-VCC1 3 1 c17 0015 Rch Tweeter Sig 2 | 5
-VCC1 4 wv—— S INIM BOOT1 " n +24dbm/40W
POWER GND 5 % N 0.22/50 : Rch Woofer Sig 111 @4ohm LOAD
POWERGND | 6 ¢ A c1 outt H2 »—-, BROWN )
From POWER BLOCK SPEAKER GND 7 5 { sGND1 4 = Reversed phase against Lch
CN4 SPEAKER GND 8 1 TDAB9208. c18 c19 e C20 C59
Main Sig R 9 191 sGND2 =
D 10 [0 R11  C21 B0OT2 220p  220p 6.8/50NP  6.8/50NP
Main Sig L 1 56k 1050NP 777 A H S
ACKD 12 2 IN2P out2 H4
Mute Control 13 7 BIMZTAGTOZSN c23 A N w 3 174
112 BLM21AG102SN1 . 220p c24 220p < < L o3 a 0.18mH
B13B-EH  R18 NUTYW T 10/50NP T IN2Mm g g g 2 = § @ = H
(2]
,_| '_‘ H PURPLE Rch Tweeter 4ohm ]
c43 01 = C2 R1 L8 —| Reversed phase against Lch
R13 E 0.015T 10 99BAMF-134
3.9k c26 R0
777N 777 04
o= R15
_I: 22 3W
% A ; A 7-|7_7 ; css L C34
06850 T I 022/50
. +/[
) R R ) c35
cor C28C29 €30 C31 c32 022150
01 01 220p 0.4 0.1 01
c52 c53 Cc54 55
0.1 0.1 01 0.1
F F 7"/7_' j7F 7"/7_’ j7|=
Cc56 c57
NIU NIU

o B

42 43



Jul. 2007 AC-90

MEMO

Roland



	Table of Contents
	Cautionary Notes
	Specications
	Location of Controls
	Location of Controls Parts List
	Exploded View (Cabinet)
	Exploded View (Cabinet) Parts List
	Exploded View (Chassis)
	Exploded View (Chassis) Parts List
	Parts List
	Verifying the Version Number
	Test Mode
	Block Diagram/Wiring Diagram
	Circuit Board (Main, XLR Board)
	Circuit Diagram (Main Board: Digital)
	Circuit Diagram (Main Board: Analog, XLR Board)
	Circuit Diagram (Main Board: Power Supply)
	Circuit Board (Jack Board)
	Circuit Diagram (Jack Board)
	Circuit Board (Panel Board)
	Circuit Diagram (Panel Board)
	Circuit Board (PS1 Board)
	Circuit Diagram (PS1 Board)
	Circuit Board (Amp Board)
	Circuit Diagram (Amp Board)


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




